Date 2000/3/17
12BY7TA A 1
X 50|V/DIV
Y 10[mA/DIV
Egl 0.75|Vstep
Esg 180|V
Date 700279729
X 50|V/DIV
12BY7A #VF No.1
o . Y 5|mA/DIV
X: BOV/div Y: SmA/div Egl 2|Vstep
Eg: 2V¥step Esg Vv
Eh 12.6]V
Th 303|mA
Date 700279729
12BY7A #AF No.2 X 50|V/DIV
— Eh=12.6¥ 1h=296mA Y 10{mA/DIV
i — = X: 60¥/div Y: 10mA/div S 0.75|Vstep
] R - Eg: 0.75Ystep Esg:180Y Esg 180V
— B Eh 12.6]V
| Ih 296[mA




12 BYA_(T)_*"& ™2 Date 2002/9/29

R X 50]Vv/DIV
[Ex O .
[ 3%t Eh=12.6V 1h=296mA EY1 g\"/"‘}c/ DIV
X: 50V/div Y: SmA/div £ Step
Egz: 2V¥step Esg - Vv
Eh 126V
I 296|mA
Date 2002/9/29
.-—m—-—’mN 1 X 50]V/DIV
[
Eh:12.6Y Ih:296mA EY1 1? \"/"‘}E/D‘V
X:50V/diy Ya10mA/div g Step
“1¥step Fsg:180V Esg 180[V
Eh 126V
I 296|mA

12BY7A_GE (T) No.1 Date 2002/9/29

12BY7A GE No.1 (T) X 50{V/DIV

Eh:12.6Y [h:296mA Y 10|mA/DIV
X:50¥/div Y:10mA/div Egl 2|Vstep
Eg:2¥step Esg _ Vv

Eh 12.6|V

Ih 296|{mA




12BY7A_RCA No.2 Date 2002/9/29

12BY7A RCA No.2 X 50|V/DIV
Eh:12.6¥ Ih:292mA Y 10[mA/DIV
X:50¥/div ¥:10mA/div Egl 1[Vstep
Eg:1¥step Esg:180¥ Esg 180|V

Eh 12.6]V

Ih 292[mA

12BY7A_RCA (T) No.2 Date 2002/9/29

12BY7A RCA No.2 (T) X 50{V/DIV

Eh:12.6Y Ih:292mA Y 10|mA/DIV
X:b0V/div Y:10mA/div Egl 2|Vstep
Eg:2¥step Esg — Vv

Eh 12.6|V

Ih 292|mA

12BY7A Amperex No.3 Date 2002/9/29

X 50|V/DIV
12BY74 Amperex No.3
Eh:12.6V 1h:309mA Y 10|mA/DIV
¥:50¥/div Y:20mA/div Egl 1|Vstep
Eg:1V¥step Fsg:180¥ Esg 180|V

Eh 12.6|V

Ih 309|mA




Date 2002/9/29
12BY7A_Amperex (T) No.3
12BY7A Amperex No.3 (T) X 50|V/DIV
Eh:12.6Y I1h:309mA Y 10|mA/DIV
Eg:2¥step Esg Vv
Eh 12.6]V
Ih 309[mA
Date 2002/9/29
12BY74 Sylvania No.4 X 50|V/DIV
Eh:12.6Y Ih:297mh Y 10[mA/DIV
X:50¥/div ¥:10mA/div Egl 1[Vstep
Ez:1¥step Esg:180¥ Esg 180V
Eh 12.6]V
I 297[mA
Date 2002/9/29
12BY7A Amperex No.3 (T) X 50|V/DIV
Eh:12.6¥ Ih:309mA Y 10/mA/DIV
Eg:?¥step Esg Vv
Eh 12.6]V
I 297[mA




. Date 2002/9/29
12BY7A_Sylvania No.5
12BY74 Sylvania No.b X 50|V /DIV
= Eh:12.6¥ Ih:304mA Y 10|mA/DIV
X:50V/div ¥:10mA/div
__—,-———" Eg:1¥step Esg:180¥ Eg1 18(1) xStep
/ sg
Eh 12.6|V
Ih 304|mA
Date 2002/9/29
12BY7A Sylvanla (T) No.5
12BY7A Sylvania No.5 (T) X 50|V/DIV
Eh:12.6¥ Ih:304mA Y 10[mA/DIV
X:50¥/div Y:10mA/div Egl 2|Vstep
Eg:?¥step Esg Vi
Eh 12.6|V
Ih 304|mA




